Q1.
Complete the table.

Round 39,476

to the nearest 10,000

to the nearest 1,000

to the nearest 100

Q2.

3,976,219

Which digit is in the ten thousands place?

Round 3,576,219 to the nearest million.

Q3.

Round 84,516

to the nearest 10

to the nearest 100

to the nearest 1,000

Page 1 of 2

2 marks

1 mark

1 mark

2 marks



Mark schemes

Q1.

Award TWO marks for the correct completion of the three numbers in the
table, as shown:

Round 39,476

to the nearest 10,000 40,000
to the nearest 1,000 39,000
to the nearest 100 39,500

If the answer is incorrect, award ONE mark for any two of the numbers
rounded correctly.

Do not accept 9,000 or 500 for the second and third entries.

Up to 2m
[2]
Q2.
(@ 7
Do not accept 70,000 or 70 thousands.
1m
(b) 4,000,000
Accept 4 million or four million
Do not the answer 4
1m

[2]

Q3.

Award TWO marks for three boxes completed correctly as shown:

84,520

84,500

85,000

If the answer is incorrect, award ONE mark for two boxes completed correctly.
Up to 2m

[2]
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